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1. Concept of Poverty

1. Introduction :
The total population of India is about 139 crores (as per 2021 census) and about

65% of the population lives in rural areas. Hence, if the country is to develop sustainably
with stability, it is necessary to develop the rural sector. But various economic problems
prevail in rural areas which adversely affect the economic development of the country.
Hence, for the development of the country, it is necessary to focus on the various
problems prevailing in rural areas like poverty, unemployment, population, migration,
inflation etc.

Among the problems prevailing in rural areas, poverty is a fundamental and
important economic problem. Besides, poverty is also a global social and economic
problem that affects rural economies all over the world. Lack of income creates
‘poverty. The resulting condition affects social life in the worst possible way. In a
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developing country like India, the problem of poverty lstji Vfll'i; ;E::;'“j i:.ﬂd widespreyg
as it is associated with development, inequality, deprl‘b'? i:: " ]ins ]:]and hu"‘ﬂl'l
rights. During the process of economic devt.elﬂpmens e thz ﬂtgher ';““'IES like
India, on the one hand inflationary P"EZS‘:; ;E;; Et?;z oo wibiboce Cokkls ﬂndal?i[;ﬁ:?
: ize on basic indu _ ; e 5
Growth nth long tem. During i roces, e prics of e csentals offe ncrca
with less attention initially paid to agEien R - C?i];e HI:FEHY creatser s
problem of poverty becomes more severe. A problem PIOWR e S Imany new
: which adversely affects the economic development of the

problems in the fﬂﬂr:;’::e the problem of poverty; it is necessary to know about it
22?12:]_:: I:yizge;;azses, effects. So that the planners can Sk ndan e dot POYERY

alleviation based on that. - ——
i d Definition O 3
12»:1 arr::z]:? gt:n\mrtr poverty is a multifaceted, complex and man-made socig]
= -

' sufficient financial resources or material

Pfﬂblﬂf{i mmﬂi:ii?ﬂiiﬁ;; and lead a dignified life. The concept of
PGSEEESI?nss;;}c::ted with basic needs. Poverty is a condition where people's income

Pu"; ll-fmywlsﬂ?at they cannot even meel their basic needs like food gn:—n‘ns, pulses, milk,
fe;etables, clothing, shelter, education, and healthcare. Hence it 151 called absuiuf;e
poor. Thus poverty denotes a state of lack. The problem of poverty is very sevelre }n

’ most of the developing countries of the world. The problem of poverty also prevails in.

developed countries like Europe and America in different fu'rms. ¥
The meaning of poverty changes with place, time and circumstances. Poverty in

India is defined on the basis of calorie consumption or expenditure. According to the '
norms accepted by the Planning Commission of India, a person in a rural area should cluthmg. healthcare, education and other basic needs.
get 2400 calories from his daily diet and a person in an urban area should get 2100 Different nations calculate the poverty line in different ways. The poverty line is
calories from his daily diet. In order to get calories within this fixed limit, it is necessaryg a measure of how much it costs or how much income is needed to pay for rent or buys
to spend some minimum amount on the daily diet with respect to the price level. A§ a house, to meet fumi:'l and other needs. If a person's income is above the poverty line,
person who cannot spend even this minimum to get calories is a poor person. the government (.Eﬂllﬁld&l‘s it sufficient to cover the costs of housing, clothing, medicine,
n Traditional Meaning of Poverty : According to income deﬂnlﬁnfl off food, and HEFESSIﬁEEa and the person is not poor. But if a person's income is less than
poverty, "A certain normative minimum level of per capita consumption expem‘f!f t!le poverty line, they cannot meet their basic needs, and they live below the poverty
required to ascertain minimum basic needs and services is called poverty line." line.
All people, who have less than required income are said to be poor. It means th
poverty is a state of scarcity. Poverty line is a minimum standard.
The concept of poverty line is shown on the basis of different criteria. In In
poverty line is defined in required calories or minimum expenditure required to g€
minimum calories.
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‘ ' hould get food with 2400 calories an
B e e s Saher skt f this method is that. It

in urban areas 2100 calories is required. But the limitation o : g s it
only shows the situation of non availability of food. Poverty IS not a El'm?j -
starvation but is more than starvation. In this concept, minimum il'EqU“e Sk
clothing, housing, education, pure drinking water, health, cleanliness are also
included. ' _
The concept of traditional poverty only give the idea of poverty but intensity 1S

only measured by modern meaning of poverty. ‘
Modern Meaning of Poverty : The modern economists Mahbub UL Haq

and Amartya Sen have given great devotion to this topic. This concept is also known
as non-income poverty. As per their theory, the income poverty is one of the important
elements of poverty but it only reflects a single aspect of human life. As compared to
rich people, poor people get less freedom of choice and also live life without freedom.
So to get exact meaning of poverty not only income but also knowledge, long and
healthy life, good standard of living, individual freedom, availability of opportunities
and a life of choices, self respect etc. should be also considered.

UNDP, who is preparing development report through HDI (Human Development
Index) and HPI (Human Poverty Index), included three important parameters namely,
knowledge, health and standard of living. Under which knowledge - literacy rate and
enrollment ratio are measured, for health - life expectancy at the time of birth is
measured and for standard of living per capita income at Gross Domestic Product is
considered.

Poverty Line : In general, the poverty line is a measure of how much income or
expenditure a person has to pay for the basic amenities of life such as shelter, food,

The poverty line in India was initially determined by the Planning Commission but
currently it is determined by the NITI Aayog. Poverty line estimation in India is based on
the ‘Eunsumpﬁnn expenditure and not on the income levels. In the year 2011-12, the per
Capita monthly consumption for rural areas 816 rupees and for Urban areas 1006 ru .
was decided as poverty line by Tendulkar committee. According to the Ranga o
Committee Report (2014), the per capita monthly consumption in urban areas iag? Tl?;;l

i
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and in rural areas, the per capita monthly consumption e [oxeel o o,

Definition of Poverty :

Different economists have tried to define poverty s follows, -
> ﬁccu[ding to Adam Sl‘.l‘lith, "pﬂﬂﬂn_}’ as the lack Gf the necessities and

Opportunities necessary for a decent life, including food, shelter, and fduffltiﬂn".

> According to Gillan, "If a person does not possess the n_equ:red income oy
expenditure needed to satisfy the basic needs to maintain the social standard, he is
defin "

/ ei asRT\.f:u-e has defined the poverty as "a ﬁ”ﬂH}’_ IS Eﬂm{dffmd to be living
below poverty, if its total earnings were insufficient to uf;-mm the minimum necessitjps
for the maintenance of merely physical requirements..

> According to the United Nations, “pauert}‘f r.s' fundamentally a lgck of
choices and opportunities and a violation of hun'm:.m dignity. -In ua:her u{ﬂrds. poverty
refers to the basic lack of ability for people to participate effectively in sucw!]:-. In which
the family does not have enough food to feed and cIot.has fo wear, ﬁ-_’u.t being able to
teach in schools, not having land to grow food grains or jobs to earn a living, not haufng
access to credit, lack of hospitals, clean drinking water and sanitation facilities means
living in a fragile environment where individuals, families and communities are

e ——

insecure. ".
» The World Bank defines poverty based on income levels. Income levels are

expressed by the international poverty line, which is set at $1.90 per day (in 2011
purchasing power parity terms). According to the World Bank, people whose income

is less than the set threshold of $1.90 per day live below the international poverty

line.
According to recently updated data from the World Bank, this ratio is set at

$2.15 per day in 2022. This threshold is designed to capture extreme poverty and is
used to compare poverty rates in different countries.

2. Nature or Forms or Types of Poverty

There are two types of poverty : (1) Relative Poverty and (2) Absolute Poverty.

(1) Relative Poverty : The concept of relative poverty is associated with unequal
distribution of income. Relative poverty exists when some sections of the country eam
more than others due to unequal distribution of income. In the concept of relati
poverty, individuals in a society are grouped according to their income and the relative

income of such population groups is compared. Lower class people are said to be

relatively poor as their income is less than the upper class people. The proportion 0

relative poverty is higher in capitalist countries than in communist countries of the
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world. The relative concept of poverty is not very useful for developing countries. Of
course, the concept of relative poverty is more useful for getting an idea of income
inequality in a country,

Relative poverty is usually measured by the share of the top 5% or 10% of the
nation’s total income, and the bottom 20% or 40% of the national income. The
concept of relative poverty is not very useful for developing countries. This concept
only gives information about inequalities of income. The concept of absolute poverty
is important for developing countries.

Efforts have been made to measure inequality of income distribution in 66
countries of the world. In which the per capita income of the country and the total
population of the country are divided into three sections. (1) the highest income 20%
population of the country (2) the middle income 40% population and (3) the lowest
income 40% population get the share of the national income. Countries where the
bottom 40% of the population receives less than 12% of national income are considered
to have severe inequality, moderate inequality where the share is between 12% and
17%, and low inequality where the share is greater than 17%.

In this view, low income inequality was observed in 21 countries out of 66
countries. Income inequality is found to be low or moderate in socialist countries.
Countries like Japan, Britain, U.S.A, have also seen low inequality.

The concept of relative poverty can be studded with the help of a following

hypothetical example. For e.g. A nation's population is divided on the basis of five
income groups.

Group Income Group (in Rupees)
Group - 1 0 —-30,00_{].
Group - 2 30,000 - 1 lakh
Group - 3 1 lakh - 3 lakh
Group - 4 3 lakh - 10 lakh
| Group -5 _10 lakh and above 3

In the above example the class in group 2 has more income of people then in
group 1. It can be said that in group 1 are relatively poor than group 2. But the same
way group 2 is poor than group 3. Group 3 is poor than group 4, and group 4 is poor
than group 5. It means people of group 1,2,3 and 4 are relatively poor than group 5

{’Lccurding to internationally accepted norms, these people are considered to hl;
poor in the sence of relative poverty, who earn less than 40 percent of the national

averagf: wafge In their country is poor. This concept is more relevant for developed
Countries like USA, UK, Japan etc. with reference to the disparity of income
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(2) Absolute Poverty : Absolute poverty is also known as puré poverty. Th
basic needs. A person Who canng

concept of absolute poverty is associated with :

meet his basic needs like food grains, pulses, vegetables: € o

called a f poverty line is us€ e HIE Exten
bsolute poverty. The concept of poverty f minimum income o

of absolute poverty. The poverty line shows the amount 0
expenditure a person needs to meet their basic needs. Three factors have to be takep

into account to determine the amount of minimum rFqUiled meome ox liifxp?endlture.
(1) How many calories should a person get from dally QL0 51{5“;“3' :1 (2) How
much and what kind of food is needed to get th?e required calories? (3) How much
at current prices:

gliidb;nsie;’; :;:: rg:‘f;:;tr:ﬁ: minimum EEpend%nue 1&‘-"‘1??1 required for an in‘_ﬂ'fidu;ﬂ
is determined. A person, whose expenditure or income 15 le;s. tha'izl ;m; null;umm“

necessary expenditure level, is lives below the poverty line and 1s Sald 10 b€ a solute

PoOOTI.
> Other Types :

(3) Rural Poverty : It occurs in
the area where there are less job 0ppo
for disabilities and quality education 0ppo
depend for their employment on agriculture
surrounding area. Hence rural poverty COmes

(4) Urban Poverty : Urban poverty is oc |
population over 50,000. These are some major challenges faced by .the urban poo
like limited access to health and education, inadequate housing, unhealth
asual daily employment and insufficient income in urban area

2 - Basic Problems of Rural Economy __2?

From the above table, it can be seen that rural poverty was declined from
50.1% to 21.2% during the period of 1993-94 to 2019-21. Similarly urban poverty
declined from 31.8% to 5.5% during the period of 1993-94 to 2019-21.

3. Indicators of Poverty

The level of poverty and their components are called the indicators of poverty.
To understand poverty of any country, the indicators of poverty are most powerful
elements. Through indicators we can easily find out the types and level of poverty. The
main indicators of poverty are low per capita, household expenditure, malnutrition,
life expectancy, infant mortality rate, medical facilities, drinking water, toilets, housing,
electricity consumption, education etc.

(1) Low per Capita Household Expenditure : The per capita household
expenditure of any country is very important indicator of poverty. Per capita household
expenditure depends on per capita income. Per capita household expenditure is the
amount of income a family spends on an average on consumption of goods and
services. To calculate per capita household expenditure, the nation's total spending on
such goods like cars, computers, washing machines, T.V., mobiles, A.C. are divided by
the tuta'l population. Per capita house hold income and expenditure shows the countries
expendllmre on standard of living and luxurious product. The per capita consumption
expenditure for developing countries is much lower than that of the developed countries
and in this sense, developing countries are poor.

e.g. The following table indicates per capita consumption expenditures.

——

—
—_— =

rural areas with population below 50,000. It i
rtunities, less access to services, less support
rtunities. Most of the people in rural areas
and other menial jobs available in the
into being.

curs in the metropolitan areas with

environment, iy
Rapid urbanization has led to a rise in urban poverty. Counities e T e o T
(5) Situational Poverty : Situational poverty occurs due to specific events o Us ' in US § Year 2014
circumstances like natural disasters, economic recessions, Or health crises, leadin A 31,469
to a sudden decline in income and living standards. fa | 25,828
(6) Multidimensional Poverty : Multidimensional poverty takes into accoun Chﬂaﬂ 22,149
a range of factors beyond income, including access to education, healthcare, nutritio s 1420
sanitation, and other basic needs. It assesses poverty based on multiple dimensio I"fj'ﬂ 725
of deprivation. T Pakistan 603
Poverty Trend in India : Source : World Bank]

Year Rural Poverty (%) | Urban Poverty (%) Jiﬁccurding to the above information on the basis of the base year price of
T T R 2Dﬂ§, in the year 2014, the per capita household expenditure in develo pEde:n?ﬁ;':fﬂ
s i il e ;I?;[ .15 ;$31,469, UF\" is $25,828 and Japan is $22149 while in developing countries liku;
1112 — s ndia is $725, China $1420 and Pakistan $603. [t shows the poverty of Nati

: : compared to UK. and U.S. India's per capita consumptio : 'atlun. e
2019-21 21.2% 5.5% around 40th part. Which shows India's oo ption expenditure is almost
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a human take calorjeg

jon ally ' Prote;
| of Malnutrition : Norm alculat €ing,
2) Level o . he meal. To calculate poverty theg, il g

carbohydrates, vitamins lralar.u:l t;r:::l;hﬂ i not getting nutritive .fr.?:nd are callg
are also .measured‘ The p e d country th'e mah?utntmn ratio jg

malnutritmln person. As ;:ﬂ[:‘:dia inspite of an i::mrease in agricultural prog,
in developing cm_.mtl'}'. n n:;blﬂ to get nutritive fm.:n:l because of loy Per capyy,
people with low income are u me. According 10 FAQ, 2015 report, h,

] = ' f Incu
- distribution 0 : :
income ancfl futaﬂqui ) dia is ranked 2nd in the world in Measuremeny of
situation ot food Sé€

. in India
b oindi pverty 1 :
malnourishment wh::ﬂ .1;1:1?65 p e in the world. It means almost 13%
There are 793 milit

alnutrition peop!
of the total population of the WO

—
—
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rld. According t0 economic survey in India following

s Total Malnourished People (in %)
Year o
1990-92
2000-02 17.5
2005-07 205
’ 2010-12 15.6
2014-16 15.2 I
[Source : Economic Survey - 2015-16]

According to tab_l-e from last 2% decade, the ratio was decreased but still it i

15.2% in 2014-16. It indicates the poverty of India.
(3) Life Expectancy and Infant Mortality rate : Life expectancy means that ho

long new born baby is expected to live on an average. The Average life expectancy o
the people in a country is based on nutritive food, cleanliness, pure drinking water an(
health service. Mostly rich people can get all facilities more than poor people. Same &
in developed countries these all facilities are more than developing country. Poa
people are deprived of such facilities so they have low life expectancy.
Infant Mortality means number of death taking place per thousand childre
born before reaching the age of one year.
According to experts view, death rate of new born babies before completion ¢
a year in a country is called Infant Mﬂﬂﬂlll}i Rate. The rate of infant mortality depenc
on income, health service, mother's health and education, vaccination, nutritious fo
etc. This type of service is not fulfilled by poor people and that is the main rf-‘fﬂ :
for child death before completion of one year, As compared to rich people Inid
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mortality rate among poor people is high. Infant Mortality is also an mdiFaID
poverty in respect to poor health services. Life expectancy and infant Mortality rates

of various countries of the world are shown as below :
Life Expectancy and Infant Mortality

Countries Life Expectancy (in year 2023) Infant Mortality
Norway 83.95 1.8
USA 79.74 5.1
Srilanka 78.79 6.5
China 76.80 6.8
India 72.03 30.4

As per the above table the life expectancy in Norway is highest, 83.55 years and
lowest infant mortality rate is 1.8. In comparison to this, developing countries have
low life expectancy and high infant mortality rate. It indicates the poverty.

e.g. In 2023, the life expectancy in Srilanka was 78.79 years, China 76.80 years
and in India only 72.03 years. It means India's life expectancy is lower than Srilanka
and China.

In case of infant mortality rate, India has highest rate as compare to another
country. e.g. In Norway only 1.8 child die per thousand, in America 5.1, in Srilanka
6.5, in China 6.8 whereas in India 30.4 children died per thousand. It shows very high
infant mortality rate in India.

In short, in 2023 India's life expectancy was 72.03 and infant mortality rate was
30.4 shows the poverty of India.

(4) Medical Facilities : The scarcity of doctors and medical facilities are
important part of indicators of poverty. People are often victimised in developing
countries because of low health and medical facilities. These types of poor do not to
get nutritious food and that is why their immunity power is less. In health sector
doctors, nurses, compounders', medicines etc. are included and their scarcity adversely
affects health services. The government also ignores such type of things. The situation
of India as compared to other countries is very poor in medical services and doctors.
The condition of village people is very bad in medical facilities.

In developing countries every year 1.7 crore people die from diarrhoea, malaria
and T.B. In whole world 2.3 crore people are suffering from AIDS and most of them are
poor people. It means out of this 90% belong to the developing economies.

In developing countries only 1 doctor is available for six thousand population
Where as in developed countries 1 doctor available one for every 350 people. '
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e g s drinking water. Health is vep,
(5) Drinking Water : One indicator of Puve;t};; cleanliness. Due to scarcity g

much connected with drinking water and facilitie 1 :
. ; tly poor people are suffe
pure drinking water, people often get water diseases. Mostly P i diseases*rmE

: ieni ter is
from this situation. In short, the dirty ﬂﬂ*d U"h}"glﬂm;%w? .milies get pure drinki
According to census Report 2011, In India 63. rinking

water through treated source. 8.67% families g€t untreated tap Water, 26% people geg

.S
water from other sources such as well, hand puplsmfsﬁs
absence of pure drinking water polluted water 1n

Cleanliness is important aspect wnh ]JI.:IIE drinking
eanliness is most important indicators. Dye
people are going outside for toilets, |t

the chances of water borpe

diseases.
6) Provision of Toilets
water. To avoid water borne diseases cl

. of toilet in the houses and society, P€0 ; :
::‘;esatcaefg]ﬁ.lﬁ:n in the society. The scarcity of toilets for poor people in developing

' ' ort 70% of Indian
ies i i~dicators of poverty. According to one rep

mun;ile]jsvf ;nzl?:fnm;ea :;r unhygienic areas. In cuunmgs‘ only 66% huuses_have_
f;i?; facilities while 34% houses are without toilets facilities. L&ck't:ff cleanliness,
pollution and physical weakness keeps the production and productivity level low.

(7) Housing : Housing faciliti
developing countries like India, P:ftkistan
type of situation people are living in slunils
(housing)" are basic need for human being.

level of poverty. | .
Construction of a house, Varandah, members In a house, tap in the house

drainage facilities in the house, electricity facilities etc. and the percentage of house;

with these facilities decides the level of poverty. ” |
Most of the houses in India comprise of one room facility and number of famil

members are more. These type of houses are not having drainage facilities, electrici
facilities etc. Many people live without houses near airport or railway station an(
under the over bridge. In India 60 crore people have dwellings which are dangero
for their health and risky for their lives.

(8) Electricity Consumption : One of the major factors in the development
any country is electric facility. In any country per capita consumption of electricity
useful in taking decision about economic development and physical quality of lifé
As compared to developed countries the level of consumption of electricity is lowe
in developing countries. India produced maximum and more production of electricit
but due to high population and low level of income the electricity consumption

lower.
e.g. per capita electricity consumption in U.S. 12985 kw, Japan 7836 kw, U.5

5407 kw, while in India only 765 kw.

is facing lack of housing facilities. In this
and dirty areas. "Food, cloth and shelter
Types of housing facilities decides the

ring, river, canal, ponds. In the

es is also one of the indicators of poverty. The
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(9) Education : The development of any country is depends on literate and
trained employees. In developing countries literacy and training both are at low
quality rate, so production, is also low and because of that they get low salary. Low
education makes them conservative and rigid and they are also not ready to accept
the changes.

According to World Bank "People in the age group of 15 years and above, who
can read and write are literate, and the rest are illiterate and they are mostly poor.” In
developed countries 100% people are literate. In 2011 Brazil had 91% literacy rate
whereas in India it was 74.04%, in Nepal 60% and Pakistan 55% which shows that in
developing countries, the literacy rate is comparatively very less. As compared to male,
the females are more illiterate. Low education is both cause and effect for poverty.

Only level of per capita income can not give the right estimate of poverty in the
world. A country with high per capita income can have high number of people below
poverty line.

(10) Unequal Distribution of Income and Property : The poverty in the world
not only depend on per capita income but also depends on distribution of income and
property. If any country's per capita income is more but on another side unequal
distribution of income is created then there is possibility of poverty in the country.
Mostly in developing countries the size of poor families are big, and the sources of
income and resources are low which create low income ratio. The benefits of economic
development are taken by only rich people and poor people can't get it.
| After 1991 economic reforms, economic growth and per capita income have

increased sharply in India due to unequal distribution of income: larger reduction in
[?n'verw is not noticed. On one hand we see rich class of people with high standard of
!mng and enjoying good facilities and on other hand, we find low income people living
in slums and deprived of basic necessities like food, education and health.

The table shows, the actual income of 1% top rich class in USA, UK and India.

Share of actual income to top 1% Rich Class.

Country Year 1998 Year 2012
USA 15.2 18.9
UK 12.5 12.7
India 9.0 12.6

[Source : Economic Survey 2015-16]

According to above information in USA rich class person increased 3.7%
U.K 0.2-% while in India 3.6%. For India it can be said that the advantage frurr;
€conomic reforms were more in favour of the rich. ’

S0, the unequal distribution between rich and poor are indicators for poverty
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(11) Hi 4 ket wage Tate Bt B T o e g .
and willingness to work at exising mar o be unemployed. On the situatiq nJDh (2) Causes of Rural Poverty

of (a) Inequality of land ownership : Inequality in land ownership is one of the

causes of rural poverty. E.g. [n India, 10% of the landlords own 56% of the land. While
70% of the people own 13.83% of the land. As a result the size of the farm remains
small. Such small farms do not receive any benefits of farm progress. Besides, the
limited zamindars dominate politics and have managed to take the benefits of the
government's rural development schemes in their favors, while the economic
condition of landless farm laborers and small and marginal farmers has not improved
and lives below the poverty line.

(b) Low productivity of agriculture : Although agriculture is the main occupation
in India, the agricultural sector is still using old production methods. Due to less use
of chemical fertilizers, improved seeds, irrigation equipment etc. in agriculture sector,
the productivity per hectare and per laborer is low. Failure to create sufficient
employment opportunities in other sectors in rural areas has increased population
pressure on agriculture. This has led to sub-division of land and sub-division of sub-
economic tillage components. Due to this, the rate of poverty has also increased.

(c) Failure in implementation of land reform : The Land Ceiling Act has been
passed to reduce the inequality of land ownership and the Tenancy Act has been also

passed to protect the rights of tenants, But all these laws could not be effectively
implemented. Still the administrative

by large landlords and rich farmers.
could not be achieved,

(d) Natural disaster : Agriculture is the main occupation of rural areas of India
and agriculture is mainly dependent on natural factors such as rain, weather etc. Due
to frequent droughts, floods, heavy rains etc. in the country, the production and
income in the agricultural sector remains uncertain. At the time of such calamities,
even the little savings that the farmers have made are used up. A farmer cannot get out
of the vicious cycle of poverty

(e) Minimal development of agro-related industries : Agricultural sector
depends upon monsoon due to insufficient irrigation facilities in rural areas. Moreover
ifl @8ricultural and allied activities like animal husbandry, dairy industry, fisheries etc.

were growing slowly and this increases seasonal unemployment. As a result poverty
remained high in rural areas.

(3) Economic Reasons :
(a) Population growth : During the period of planning, due to economic
development and rapid improvement of health service, death rate declined fast but at

the same time birth rate did not reduced significantly. So the situation of population
explosion arises in the economy. According to the 2021 ceénsus, the total population

: id
but do not find work (job), they E;IEE 5;: «atisfy the primary needs of h

| is fam;)
unemployment the person IS not a ;

cade of plannin S
io of poverty increases. In the first four de nt of empplwlnegl;ttf?e -
; ; n
the ratl‘f‘ 0 Pl wand it resulted in to 1ess develnp_m < Sl i l.p.pmt“mues
e — in supply of labour B N Of incregs ;
in comparison to INCrease S il unemployment remaineg =

ent. In India till 2011, 14, the T8 of un |

iﬁ:ﬁ:ﬂﬁu labour commission P Ehe Yearliﬂrfra] areas, this rate wea?ﬂlgmem

bove the age of 15 years and above is 4.9%. % agg
above

. %' "
in urban areas it was 5.5 ‘ eople per capita clothes consymmn:
ncome P Mptigy
Others : The group of low ] ' ize of family i :
oo h ulation ratio is high and the g Y Is also high, Just
is also low. The pop in dangerous field like crackers factory, T, low

because of poverty the child works 1 g e
saving rate and dual economy arc the IndiC

4. Causes of Poverty

]:*. lrlll}'u?:l;:;?; i.s a complex and multi-dimensional problem. In the eqry
ove

annin ' blem of poverty. Because at thg
ing, planners did not focus on the pro :
E :: ;feli wasi Il:::eli,af that the development of the country wn'uld' automatical]
S:}JVE the problem of poverty, but it did not happen. Since the. begml?mg of the Fj
Five Year Plan, the objective of poverty eradication has been given priority. However

the poverty rate did not decrease as expected.

2. Causes of Poverty in India : | '
The reasons responsible for poverty in India can be described as follows.

(1) Historical reason : India was a prosperous country before the Briti:s.h
in the 17th century. But India was economically exploited on a large scale during th
British rule. They had no interest in the development of the country. Hence n
industries could not develop in the country. Not only that, they implemented tra
policies, taxation policies and industrial policies which destroyed India’s d-?mes
industries and prohibited new industries from developing. During that time agrll?.lﬂt
in India was dependent on rain. But the British rulers neglected to invest in
irrigation sector. On the other hand, due to frequent droughts, zamindari syste
high rate of land revenue, etc., farmers became economically weaker. Due to wh
the poverty rate of the country increased.

Hence the expected reduction in rural poverty
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of India is 139 crores. Due to increase in pupulatm;]; :EV:; ey EEIEHS;?E;L
output and employment reduces. As a result, the pro a
us circle of poverty is responsible fq,
th the demand side and the supply
hich reduces the demand for th,
t and income creatg,

economy. >
(b) Vicious circle of Poverty : A VICIO

o : is seen on bo
: vicious circle of poverty 1S :
poverty. The ) ome is low, W

side. Due to poverty, the per capital RN i
commodity. I;as a result, reduction 11 production, p
the problem of poverty.
On the other hand, '
in production creates a shortage In :
of goods increase and the standard 0

exists. f
ent : The problem ol Ub
(¢) Unemploym rategy for economic

¢ . ialization S i
adoption of industrializa ; . i api
¢ hasized heavy industries which are cap : tix dlse ottt
strategy emp h as investment increases. In the p e sector

i uc

nt does not increase as m . |
emplD}q}::l intensive production methods have been encouraged. In lﬂdlEll;l ent}fin?mem
;ﬂﬂ: Ea?been created as fast as the Increase in labor supply. As a ;’ES t the rate of
uzse;;lnyment has increased, which leads to increase in the rate of poverty. |

(d) Inflation : During the process of economi

i ' i ice level in the country.
continuous increase in the price -
wages of the fixed income working class and unorganized workers could not

significantly. Hence their real wages have fallen and the pove
(e) Slow growth rate of economic development : The Tat
national income has been very slow. On the other hand, the per capita Income

increased at a very slow rate due to the increase in pnplﬂatinr{. For ex. D:Iatm _
income has grown at an average nominal rate of 3.5 pert-:enF, while population ha
increased at the rate of 1.68 percent. Therefore per capita Income haa. gmle at
nominal rate of only 1.82 percent. Hence poverty could not be reduced in India.

(4) Social Reasons : o
(a) Lack of Quality Education : Quality education is lacking in rural areas ¢

India. As a result there is a lack of requisite skills and knowledge among people in
areas, which hampers good employment opportunities. As a result poverty could nc

. H nt H.nd ﬂutput. A dECI'EaSQ-
S Saﬂﬂ.gs, IHVEEUIIE
pﬂver[}f l'ﬂdUCE

ity. As a result the pric
upply of a cﬂmmudlty' es
thiifrinpgpuji‘ the people declines and poverty agaip

unemployment has increased due tg
development. The industrialization
tal intensive. In such industries;

be reduced. |
(b) Cast inequality : A large amount of caste inequality prevails in India

society. Due to caste inequality, people from very low castes and Scheduled Tribes é
discriminated against in education, employment and social opportunities and af
deprived of good job opportunities. As a result, poverty has increased.

¢ development, there has been g
o S —— budget to satisfy social responsibility of poor people and the benefits are only taken by
isef limited organized sector employees.

rty rate has increased. |

growth rate of India’
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: i der inequality between men an
oy vy idipuataben. oo - Women's health is

women in India. Men are given more importance than womern. : Hr

neglected, and even less attention is given to education. Hence employm -
[ & & . n

opportunities are also less available for women. As a result the family income can

increase and they remain poor.

(5) Other Reasons of Poverty : '
(a) Urbanization : There is a lack of infrastructural facilities In urban areas.

Hence rapid urbanization without adequate infrastructure and comprehensive urban
planning could not create employment opportunities. As a result, the problem of

poverty is created. .

(b) Defense costs : Nowadays every country is under constant threat of foreign
invasions. Hence, every country needs to be self-sufficient in terms of defe*nse
equipment like modern missiles, fighter planes, tanks etc. to face foreign aggression.
Defense expenditure in India increased significantly during planning. Defense
expenditure is a non-developmental expenditure. The more it costs for this, the more
the expenditure for economic growth has to be cut. As a result, the growth rate
remains low and poverty increases.

(¢) Black Money : The increase in black money is responsible for poverty. The

one who has black money can spend more money to get luxurious product and
because of that poor people get less resources. Government doesn't have enough

2 - Basic Problems of Rural Economy _ =

(d) Defective Government Policy : India has implemented a defective policy of
industrialization at the expense of agriculture. Due to this policy, the production of
food grains and consumer goods did not increase sufficiently. Therefore price of

essential goods rises, which convert in to poverty.
5. Effects of Poverty

1. Introduction :
In developing countries poverty and economic development are related to each

other. In these countries poverty is the main obstacle for economic development. The

jeconomic, social and human impacts of poverty create obstacles in the economic

development of a developing country like India. In this context the effects of poverty

can be analyzed as follows.

2. Effects of Poverty :
(1) Problem of Market : The problem of market is the main obstacles for

economic development of the country. In India people have less low purchasing
power due to poverty. As a result investors face the problem of market and they
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invest less .Thus lack of investment, the
As a result the rate of economic development o b
(2) Low productivity : Due to poverty, the laborers i i

: _ ins low, which convert in to |g,
s ' ical efficiency remains . :
nuﬁ:z;; Euith;;;c:rmEH phys c services like education, heg]g,
pr V.-

are largely deprived of basl e dentil il
etc. They cannot spend enough on their € RO r

hildren's educ
supply also remains inefficient. Due 10 pove

rty the workers cannot get enough
keepi ;
training. They also find it difficult to get employment as they are not Xe€pIng up with
the current technology.

3) Problem of Populatio

rowth rate in India. Due to poverty, i :
Euur families. For poor families, children are not a liability but a means of earning

income. Children are made to do forced labor at a child age to SUPFffhft t'hE f&mlﬂy.
Therefore the size of the poor families remains large as compare wi ilze of rich
families. Therefore we can say that population growth among the poor makes poverty

more widespread.
(4) Unemployment :

country, the employment op e
the rate of increase of such opportunities are n

opportunities of fast growing population. It is a situa
work does not get the work to do. Due to high growth

unemployment, disguised unemployment are increasin%
(5) Capital Formation : The prevailing poverty in the economy hampers thg

process of capital formation. Due to the high proportion of poor population,
amount of savings in the country remains low. Hence, the 51.1])[2!1}Ir of capital for
investment is less and the rate of capital creation decreases. The government also ha
to spend a large amount of budget to meet the basic needs of the poor. Henct
development investment is reduced. Producers also have no interest in investing whel
demand for goods and services are limited due to poverty. Hence the low rate ol
capital formation has an adverse effect on the economic development of the country;
(6) Malnutrition : Poverty creates the problem of malnutrition among peoplé
Malnutrition is a condition in which a person's diet does not contain enough calories
proteins, carbohydrates, vitamins and minerals. Poor people do not get enoug
nutritious food. During 2014-16, the total number of malnourished persons in Indi
was 15.2%. India is at the top of the world in terms of malnutrition. More than 20!
million people, including 61 million children, are malnourished in India.
(7) Healthcare facilities : People do not get enough nutritious food due
poverty. Hence they have a weak immune system which adversely affects their healt

And on the other hand due to poverty they are deprived of quality health service

level of education an

During the process of economic development of the
portunities in various sectors are increasing regularly, By

ot sufficient to provide the employme |
tion where a person willing tg

of population, seasonz
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due to low income. As a result, poor patients die even from preventable diseases.
Hence, the death rate is high in poor families.

(8) Lack of education : Children are forced to drop out of school to help the
family financially due to the large family size in poor families. Hence the literacy rate
is Jow which affects the economic and social development of the country. |

(9) Social Inequality : The problem of poverty increases the social inequality
in the economy. This raises issues of inequality in the economy in terms of income,
education and healthcare,

(10) Increase in criminal activities : Poverty itself is not the cause of crime. But
it creates an environment through which criminal activities take place in the country.
In other words poverty motivates individuals to engage in certain types of criminal
activities like theft, vandalism, robbery, domestic violence, terrorism etc. to meet their

basic needs.
6. Unemployment : Meaning and Types

1. Introduction :

Unemployment is the basic problem of the developing countries like India. It is
a key indicator of the strength of an economy and is often used to gauge the overall
economic well-being of a country. Unemployed workers do not contribute to the
national product, but they do consume it. Hence the savings as well as capital
investment reduces in the economy, which has an adverse effect on the economic
development of the country. High rates of unemployment in developing countries can
have significant consequences for both individuals and society as a whole. Hence it is
necessary to solve the problem of unemployment in developing countries. As a result,
it is necessary to study the problem of unemployment for what kind of employment
oriented strategy should be adopted by the planners to solve this problem.

2. Meaning of Unemployment :

"The person who has a desire to work, who is qualified, who is willing to accept
the prevailing market wage-rate and has made sincere efforts to find work but still
does not get work is considered an unemployment person at an aggregate level. It is
known as unemployment" If the person anticipates high salary and in that case is not
prepared to accept the job is not defined an unemployed. This type of person is said
fn be voluntary unemployed according to Keynes. For e.g. present wage rate per day
Is 1s. 1000 and a person demanding rs 1500 per day then this is called voluntary
unemployment.

> According to Prof. Pigou, "A person can be called unemployed only when
he is willing to work but is not able to find work."
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. o "a situation in which
; loyment as '@ $i ich gy

.o to Milton Friedman unemp _
indfuf:ua?';j}?;d;]gﬂﬂ:ﬂbfe af being Empiﬂyed at the going wage rate cannot ﬁﬂd
e 10 employ him.” o

— Awhzf::ﬁ;:}“ﬁiague :::pratinns Committee", "A person chﬂ' is in searey
of wu::, h::s capable and talented but is not able to find work. This is defined at

unemployment.” : "
" es of Unemployment : |
?1} g:i:en Unemployment : "A person who is ready to work at current wage rage

and possesses qualification t0o, but does not get any job is called open clilnt;mlalnmem_.
> Features : (1) As there is increase in labour supply and the process of
urbanization is at fast pace, then high rate of full unemplngnnent is seen. (:; This type
of unemployment is found more in urban area than in rural areas.llﬂt}hn HSLEE the
people of rural areas migrate to urban areas in search n:f jobs. (4) People those who are
educated or less trained / unskill person suffer from this type of open unfer_npluyment
(5) Open unemployment is a reason for reduction in output and pnl:;dumv;ty, because
this type of people can not work and they cannint get work, suc pe:;p € consume
goods and spend. Savings become less, economic t!evelnpment rate becomes dull,
Hence they become a burden. Open unemployment 15 seen more in the age group .nfi
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disguised unemployment concept can be theoretically used for economic

development.
» Meaning : "If too many persons are employed at the given level of

technology in an activity and when a few persons are removed from work, the total
production does not change, then there exists disguised unemployment.”

Prof. Ragnar Nurkse view "If labourers are removed to another sector, without
reducing prevalent production, production in other sector can be increased. Thus
disguised unemployed are implied savings."

E.g. In a 10 hectare land, 7 persons are working and producing 100 quintal
grains. If 2 persons are removed from the work than, only 5 will remain busy in
working and the production of grains remains the same. Here 2 laboures are disguised
unemployed. Their contribution was nil and marginal productivity was zero.

In India population is increasing. So that labour unemployment is also increasing
and other side agriculture sector is not much developed, so agriculture unemployment
is more. In agricultural activities only farmer's family is involved and they have no
other source of income. So disguised unemployment is found more in agricultural
sector. In urban areas industrial sector and HUF (Hindu Undivided Family) type of
unemployment is commonly found.

E | — (4) Cyclical Unemployment : In capitalist developed countries, cyclical

(2) Under Unemployment : > unemployment arises due to fluctuations in o iti
for work, they are called under unemployment. In ?ther W . mdmld nl wh 0 hag of SPEEI.I]:::;VE trends of market. E.g. If the ecgf:mieaﬁs:;;mtﬁiﬁﬁ; ECTSEEE;
accepted job for certain period of time, the work is low as per i quallficat}u .| boom, opportunities for employment and production increase. As a result, few people
skill, such type of individual is said to be under E'flpl“wd' WheR R Jatonres A remain unemployed. On the contrary, if the economy is passing through Idepresainn
and ready to };ﬂfk tf)ﬂl' Cﬂﬂaill]}'ﬁm: or days but get job for lessthan those hoursordayl . ... o closed, production decreases and opportunities for employment is also

nemployed. . :
e llf Z:aall a::as i;l Indiapsu};h type of seasonal or under unemployment is foun SEEI::;ZSE iﬁfﬁiehlz:: “; ren:mfune;npluirsd in large number. Such employment is
During sowing and harvesting time of crops such type of employment is seen ir alten find ok Ene lﬂ = E[I; HZ REe i cragecl o ket syste, we
farmers. Other half of the years, they remain unemployed. Indian agriculture is based o T 165 nt-;? Oyment based on dep r A CRAKLIAY,
or monsoon and due to limited irrigational facilities, agricultural sector faces seasonal , e, KRRE T Great Depression and its effect was seen in many
countries that is why it is known as Greatest Depression of the world. America,

nature of unemployment. A England, E : . :
When the educated skilled person has to accept job below its qualifications tha » Burope, etc. many developed countries are still facing unemployment
problems. India is also globalized so whatever effects the other countries have, it is

person is called under unemployed. direct! : . _
E.g. If M.Com qualified person has to do job of peon then he is called unde lrgn: y affect on India. S{'} cyclical unemployment is seen in India. The commodities
which are demanded at international level in that sector unemployment is found.

unemployed. E ; ‘ . .
(3) Disguised Unemployment : In an over populated country like India such -8 D'amfmd industry in India.
Cyclical unemployment is for short time period. To solve such unemployment

type of Disguised unemployment is mostly found. This type of unemployment i
Many state level manufacturing and developmental programmes investrnent is done,

called hidden unemployment. In a developing country such type of unemployment if
f Job opportunities are created for unemployed individuals. As they get income

found. Prof Joan Robinson, Prof. Nurkes, Prof. Arthur Lewis, the economists gave = = :
the concept of disguised unemployment in a developing country, That is ho Opportunities their income increases. In whole economy, demand for commodity

15 to 25 years. i '
Y n labourers are not fully utilizing their energy
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(1) High rate of population growth : In India during planning period population
gruwth rate was high. By this, labour supply also increased, which leads to
unemployment. There is huge increase in population growth rate. During the first
five-year plan in 1951, 36.1 crore population was found which increased to 139 crore
by the year 2021. By such growth of population, the supply of labour also increases.

There is a huge growth of new labourers in search of employment in labour
market. According to survey 1.70 Crore people added in population every year which
is more than total population of Australia.

With this much growth of population and lack of employment opportunities,
it's obvious that unemployment will increased. During the first five year plan the rate
of economic development was very less. After new economic policy of 1991, job
opportunity, increased but number of people for employment also increased so the
unemployment problem increased. In India, during the year 1951-1981, there was
persistency in population growth. After 1981 steps were taken to control the population.
Rate of population was decreased in 2021. But still, 5.1 crore peoples are unemployed
in India.

Due to increasing rate of population lack of attention towards agricultural so this
sector is still underdeveloped. This type of unemployment is called disguised
unemployment. Indian agriculture is based on monsoons, so we face seasonal
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with increase in production demand for El{:f:gfm €ased. By thi
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an cyclical unemployment problem ;:lil::eiupﬂd countries, usually:due to g
icti employment : s into existe

Fﬁ) dl;rt:::;: :111::]: tenl:r ‘;rﬂiﬂﬂ ““Emplﬂ}’mem :Snlzchnulug}' isn:t'efhen ?ld
t:ff:‘f::ﬂgb' is replaced by new it a{!::dﬂ Thus, the unemployed ".:: -
. ' ber of labourers are requitet R P Tkery
dominated, less num ey colds. They nave 10 q ]5 . ‘thruugh
have to try 10 find }'D 5 orin which they have 10 remain llner.np oyed is Cﬁﬂed
training. Thus, the time du rerization the clerks will not be requireq

compu

frictional unemployment. E.g. Du€ to comp
. e. _ _ ‘
in large numbers 3-15 hiftﬂi'; - either demand for certain commodities increases o
Due to new Inve , |

efore, labourers mMove - s ‘
dea?:e:ﬂst;s.[ E:Ei:emand st eriod, they have to remain jobless
uni '

ile phones then the labourers ey
ne replaced old mobile p gaged
Etig. ::Tﬂl:an;]n;a:] Eh; nricepﬂf old mobile phones become unemployed. This
in production,

4 t. :
" unemp]:]wl;l:::mplnyment . Geasonal unemployment occurs during certajp
(6) Season agriculture. That is, if the laborers get employment

jated with :
seasons of the year associa ulture and they have to remain unemployeq

; king season of agric
i;lﬂjl' dlltfhl[;grlzf ;?'-::LE Eme e called seasonal unemployment. In other words tha unemployment also.
uring '

o e is the main occupation in India, but still its dependent on nature. Ag (2}' Slow Rise in Employment Opportunities : Increase in employment and
33:; ﬁ;l:?aﬂﬂiﬁes are ina economic growth rate has a close relationship. Increase the rate of economic
1

dequate in our country. Therefore crops are harvested only o : ‘
once a year. Hence the workers get employment only at the time of harvesting of ﬁ::tetﬁlr}:::l“ m;reas:g lthe job, so the problem of unemployment can be solved. In
sowing. They have to remain unemployed during the rest of remaining days (3 to § - Lflca‘ €S of planning, India attained 3.5 percent of economic growth. The
months) of the year. population 3150' Increases the search of employment in the market. In India
after 1990, the economic rate was good at 5.6% during 8th five-year plan, 5.6% during
9t five year plan, 7.8% during 11'™ five year plan and 12t five year it was 8%. Still the
| rate of unemployment is not reduced in the country. As development is based on

1. Introduction : | o : :
Unemployment has steadily increased during the planning period in India e.g. Al ::E:;al mtensive technology, that is why India is facing problems in employment
J I.

the end of the first plan, 53 lakh people were unemployed. This proportion increaseq
to 348.5 lakhs at the end of the Ninth Plan. The growth rate of unemployment was
7.96% in 2001, which increased to 8.17% in 2011. The growth rate of unemployment
equal to 7.33% during the period of 2022.. Economic development has not been give !
as much importance as employment during planning. Therefore the problem 0
unemployment arises in the economy

2. Causes/Reasons of Unemployment in India :

In India due to growth rate of population supply of labourer is increases ant
on the other side defective policies and planning of government effects slow rise |
employment opportunities.

7. Causes of Unemployment

A ) In Agricultural sector and small scale industries, there are much job opportunities

But in this sector government is not focusing. Green revolution in agriculture sectm;
remained limited to certain areas. Other than this, agriculture sector observed slow
growth and small scale industries are not able to resist with the competition against
large scale industries. So employment opportunities are created more. Em lug ent
cannot be created as per labour supply, which increased unemplnyrr-xent .
' (3) Low rate of Saving and Investment : Indian planning has Mcreaseﬁ national
income but simultaneously population growth rate also increased. As a result, per
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e i 1" dia still we adopt capital In(enSHE technique. By this Jeg

abundance of labour in India em. In the fifth five year b
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= the unemployme Sy :

capital investment Efﬂgﬂit:ei to capital intensive technique instead of labour Intengjy,
more importance was

.1 but credit rates are still Jegg
1L|el'1l:.hnliUﬂm‘.*:(.1 EZ;::HUT?:;{:E::::Téﬁ | fii Zﬂgpi_f:lmre and industries, mechanisa;:;i
cheap an ow rate.

Aft,EI ind}mma]mm:;inmethnd is used to Increase the production anq ¢,
capital intensive Pfsfln‘; To get security, against organized labour unions, gy
decreaiﬁe e _:15&?-35 alabﬂur.ﬁgﬂcmmml sector has also become mechanizey
p{:n.‘licyls;?di?rltf{d;ﬂ:zad construction and public sector of state also uses capital
mﬁﬁ;ﬁfﬁﬁlde. That is why Bhagwati Committec B NSRRI CORTE

hich was formed to study unemployment also recommended to use less g
whnic

mechanization. .
(5) Lack of Vocat
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with changing atmosphere. Our e

42

——

te tha

capita income increased at a lower ra
income and expenses in satisfying

onal Education : In India, due to ineffective educationg
ational unemployment. The workers are not created to wor
ducation system is producing clerks and officers fg
public and private sector jobs. With the objective ntf inEIEE‘ISiﬂg ecnm:tnﬂc growth ratg
technology and mechanism has been adopted by mdustnf:s: and agriculture. So suc
labourers are required who know the techniques of using this technology, but prese
education system fails. There is lack of vocational education in our labourers, from tk
past many years' education system has become business and many self-finance schoc
and colleges are set up. Their fees structure is too high. Poor or middle class familig
cannot afford such fees. In short, Indian education system failed to construct individ |
physically and mentally. After getting education person fails to obtain self-employmer

and as a result he becomes unemployed.

(6) Lack of Man-power Planning : In India during planning period man powe

is not planned rightly. The type of labour which is in demand presently in India, th
labour supply is not possible and due to this educational unemployment 1s create
Education has been made wide spread activity without estimation of kind ao
number of labour requirement. As a result, every year lakhs of educated youth 0pt
degrees. As there is lack of knowledge and training required in present econo®
development, they are unemployed even after being educated.

B e
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In India high degree Doctors and Engineers remain unemployed after

ossessing degrees due to lack of employment. They start going to foreign countries.
policy adopted by our government are not giving suitable work to the people/
professionals. During British rule, gold moved from India to Britain. This one sided
movement is called 'Drain of Gold". Similarly, present Indian Intelligence is moving
from India to abroad. This one sided movement is called 'Drain of Brain'. Government
of India did investment on educating present youth, but due to lack of manpower
planning this benefit is received by foreign countries.

(7) Inefficiency of Public sector : After independence, public sector was given
more importance than private sector. Instead of private sector more importance was
given to public sector. Public sector is corrupted and incapable so instead of investing
in this sector its better to invest in private sector which creates job opportunities.
Private sector is responsible, disciplined while public sector keeps restrictions and
control them. After the economic reforms 1991, they gave preference and importance
to private sector for increasing job opportunities and production. By this, economic
growth has increased but employment opportunities are not created. Thus, growth
without employment occurred.

(8) Negligence towards Agriculture Sector : India is an agricultural country
and most of its population resides in villages and dependent on agriculture for
famplu_}n:nent. Planning :.shnuld be such that it could generates more employment but
in India s economy pnhc.y more emphasis has given to other sector than agriculture.
Increase In investment in agricultural sector and green revolution are the efforts
made l:t}r government. Lack of irrigation facilities, lack of agricultural finance,
uncertainty of monsoon are few reasons responsible for poor development of
l.:-:g;;ulturi f['uralGa:eas. In India Green revolution is enjoyed by only Punjab and

ana states. Government has failed i i i
ke e A plannin;lled in solving the problem of unemployment in
- lgsgﬂrzn;nfa::om Mobility Lack of mn::bilizatiun among labuyrers is also a

SC mployment. In India, due to social reasons, family, relations language
religion, casteism, culture, lack of information, lack of transportation fat;ilities aici
problem of housing are few reasons which restrain mobilization and increase i
ungmplnymeut. Many times labourer are not aware about information and are nuI:
guided. In 1n‘ri]J.z:gEs. due to joint family disguised unemployment is found

In lﬂfila people with higher education are not interested in going to l'ljll'f:ll are
and stay in backward areas even if they get unemployment. A ' 5
modern life style, modern facilities of cities and rur::ni;]I seyt?ur: ' tt;ﬂchﬂn tﬂWEIJ.'(!E
why unemployment occurs. e eiaade b
(10) Lack of Infrastructural Facilities : Due to lack of infrastructural facilities in

rural areas unemployment became a major problem. Compare to urban areas, rural
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areas are very backward. In rural areas lack of e mes: g - Poverty : The probl ‘ the problem of poverty
. s i not available and for this reasop (3) Poverty: Ihe problem of unemployment increases the pro- :

education, health and electricity facilities a%® raw materials and laboureyg . f inthe economy. Unemployment or lack of stable secure employment distupts people's

opportunities are not created. In rural areas cheap
available but there is lack in facilities like trans!?ﬂﬁ: e
So industrialists are not setting up industries in those
willing to go in rural areas.

(11) Global Economic Facto
economy, such as global recession,

primary source of income and reduces income of household. On the other hand, E_IS
the population continues to increase in the country, they are unable to meet basic
I needs such as food, shelter, healthcare and education. As a result, the standard of
living of the people reduces and increases the problem of poverty.

(4) Negative impact on the multiplier : The problem of unemployment has a
negative effect on the multiplier process. One person's expenditure is another's Income,
leads to reduces the level of produ so the loss of well-paying jobs reduces the demand for domestic goods and Services.
industries of India. Therefore the problem 0 A decrease in demand leads to a decrease in the sales and revenue of pruducesrs.

3. Effects of Unemployment Therefore in the second round, the amount of capital investment decreases, which
: leads to reduces the level of output, employment, income and demand. As a result the
value of multiplier reduces, which negatively impact on country's economic growth.

(5) Increased in Nonproductive expenditure : Sometimes government has to
: provide unemployment allowance to unemployed person due to problem of

countries. In developing countries unerlrlplnyment 1S ngera:ted EECEEISE‘ ] unemployment. It's a non-productive expenditure. Therefore productive expenditure
underdeveloped nature of an economy anditis a‘structural an 1 ﬂfnlg gjrm nside 'Y reduces, which h:.ampers economic development of the country.
the experience of developed countries, developing countries 1€ fncid assumed qig (6) Hindering the process of industrialization : The problem of unemployment
the problem of unemployment would automatically be solved with economic gro il also hinders the process of industrialization in the industrial sector. Due to high
Hence, in the initial years of planning in India, the problem of unempln}rmf:nt Was nog unemployment in the country, it is forced to adopt labor intensive production method
given adequate attention. After the implementation of the New Economic Policy.of instead of capital intensive production method. This increases the cost of production
1991, the rate of economic growth has increased but the rate of unemployment hal 45 well as the price ratio. Our country's products cannot compete with the advanced
not been reduced significantly. Even in the present time (2022) the growth rate o capitalistic production methods of developed countries in terms of price and quality
unemployment has been seen as 7.33%. The problem of unemployment creates mangand economic development is hampered.
problems in the economy, which adversely affects the economic growth ar (7) Inequality of Income : The problem of Unemployment creates the problem
Jof inequality of income. Individuals and families who are unemployed, they cannot
Jsatisfy their basic requirements. As a result their standard of living reduces, which
leads to increases the problem of inequality of income in the society.

(8) Mental Stress : The problem of Unemployment can have psychological
effects on unemployed person in the society. The persons who are unemployed, they
are suffer from stress, anxiety, depression, and a loss of self-confidence. This can
impact the mental well-being of individuals and their families.

(9) Problem of Migration : In some cases, highly educated and skilled
individuals who are unable to find suitable employment opportunities in India may
choose to migrate to other countries in search of better prospects. Therefore the
problem of migration arises in the economy.

ducation, health, electricity ¢
areas. Teachers are alsg

rs : Global Economic Factr:rrs.: Chang?s in the glop,
economic crisis, decline In mterlnatmnal trade o
ction as well as employment 1n ,Expun‘“ﬂﬂnted
f unemployment increases in our econop,

1. Introduction: al and economic dimensions like the

m of unemployment has sOCi ' _
pruhlz:'if ;zifw. It is hurdle of economic development in development in developip,

development of the country.

2. Effects of Unemployment :

(1) Loss to GDP : Unemployment has a significant impact on India's Gros
Domestic Product (GDP). When a large segment of the population is unemployed (
underemployed, it leads to a decrease in overall economic productivity and can hinde
GDP growth., High unemployment rates indicate that a substantial portion of th
workforce is not contributing to the production of goods and services, which, in tum
can result in lower GDP.

(2) Impact on capital formation : Unemployment has an adversely effect
capital formation. Unemployment reduces the income of household, which leads
reduces people's ability to save and investment. As a result it hinders the count
capital formation process as well as slows economic growth rate.

_—
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lead to soc;
. . . Jovment rates can Cla
(10) Social Unrest : Prolonged high unemploym ay become frustraeg

unrest and discontent. The persons who are unemployed EH E.annﬁ of civil tie
and disillusioned. This can result in protests, strikes, and other Est
which can disrupt economic activities.

9. Migration : Meaning and Types

p..umm_n_u_du_ﬂ..an__n:.ﬂ_ Economy a7

\u e — == T

another. m.w.n 2 ﬂmﬂmﬂ or a family settles from Gujarat to do business in Maharashtra
or in any part o ountry or state is called internal migration. In the same way a

on from another state comes to Gy; : .
pers . e ujarat for business and settl anently is
also called internal migration. e sl 4

es igrati :
These types of migration are €asy because migration is carried out within the

houndary of the single country. No permission of government is required.

(i) International Migration : Movement of 1 person or family from one

country to another country is known as international migration . e.g. When a person
or a wm.nw_du moves from Gujarat to any other countries like America, Canada,
Australia or any nu:b.:% of the world in search of job, occupation, business or for
petter standard of living for permanent settlement is known as international
migration. In the same way any person or family of the world comes to Guijarat or
any state of India and settles is called international migration - Government's
permission is inevitable.

E .mmnmcu Based Migration : There are two types of reason related migration :
(i) Migration due to Pull factors (ij) Migration due to Push factors.

(i) Migration due to Pull factors : When people from rural area are attracted to
the life style of urban people, ultra modern transportation, communication, calculation
modern health facilities, and infrastructural facilities, and facilities of m_.rmnanﬂmnm
and migrate to the cities and settle there is 'pull' migration.

In urban areas there are more opportunities of employment and business.
Therefore many people have attraction for urban dwelling and settle in cities. It is
known as attraction migration. Generally rich class of village migrates to the cities and

mmmmm. EEm dignified social status by settling in the city area. In urban area more
En;_:m.m of higher education is availed and after having been highly educated for
higher income more avenues of professions are available in urban area.

G the same way people migrate from India to foreign countries as they have
attraction for more comfortable life, more opportunities for earning higher income
WEH_ settle in foreign countries. €.g. many people have migrated from India legall
___mmm__w. to US.A, Australia, Canada, England etc. er
| (ii) Migration due to Push factors : People living in the villages have limited
income and wealth and lack of opportunities of occupation, business and emplo v
.M.,”n they have no option to economic activity and there is lack of sufficient ed :M“MM”H
_uE.M”_mM_M:MWMM Hm.mnaﬁm_._mﬁ_ to ﬁﬂﬂm to the m_.:mm and settle there. They are

cities. This class is illiterate, unskilled and untrained therefore they

1. Introduction : : that has pl
L I S = n and dynamic phenomenon playgg
Migration in India is a mul mnmﬁn__m social, economic, and cultural landscapy

a significant role in shaping e A ational migration, India has been a Em_Ea

; " . : intern
With a rich history of internal and This movement of people, wheth

i
pot of diverse cultures, languages E.E tradition A b B L
driven by economic aspirations, social factors, or enviro u

had a profound impact on both rural and urban areas. ._:._ this &aw_.mm and Mmﬁ E::S.._
migration patterns vary from region to region, and it 1S essential to un mmﬁnm.__g
concept, types, causes, and effects of migration for India’s development and socie _

2. Meaning of Migration : y
In simple terms migration means 0 shift from one place to another and res

there. Migration can be national or international. After 1991, owing to new econo
reforms in economy, migration in the country is very H.mm_,..
The meaning of migration is different in Economics. |
> As per the scriptural definition of migration - "Migration _,,m\mwm fo mover;
of a person from one place to another away from his native place, either within
outside the country for job, occupation, business or in search of better standard ¢
living, on a permanent basis."

Two points are considered in migration.

(1) Migration is either in the country for long period e.g. it is not migrati
when a person moves to a distant place for 2 to 3 months in a year to earn liveliho
and for that period he stays there. |

(2) The objective of migration is to obtain service, occupation or business:
better standard of living.

3. Types of Migration :
It is necessary to know the types of migration to have clear idea of migrati
There are two types of migration.

E Place based migration : When a person settles at distant place from fa
for long time or permanently, it is called place-based migration. Place-based migrati
is divided into two divisions according to geographical boundaries of a country.

() Internal Migration : Migration of a person within the boundary of
country, is called internal migration in which a person moves from one place
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is of the above discussion conclusion is that pull E_m.ﬁﬂ_-a: e .n.....mma_n . ercw - . :
On the basis M s of rural area as they are attracted by the _ﬁn___:.ﬁm and sogy (6) To get modern Health services : When a person cannot acquire adequate
n_”. . H_Mm ﬂ:ﬂwm _HM: migration, that is migration by compulsion is carrieq g@f ,,d required health service in his own native, place he migrates to a place where he
status ol city. ;

. : option to economic activity in g acquire modern health services. So that he can lead better life and generate
; because there 15 NO 4 can
by weaker section of society ds cities and settle there.

y . towal income.
villages and forcibly they have to run il B _ (7) Planned Migration : When a family sends one member of the family or
10. Causes 0 4 more persons of the family away from native place to earn income for livelihood and
1. Introduction : | they perform economic activity there, it is called planned migration.
Normally when a person or a family moves m.EE e E.m x mn anothepy d u Social Reason : Social causes also play significant role for migration.
from family for longer period and settles there is called migration. The Caugy

(1) Marriage : In Indian society marriage is a main cause of social migration.
After marriage a girl leaves her native place and settle at distant place to her in law's
house. This is known as social migration.
: . (2) To get respite from social customs : Rural society is rigid and orthodox to a
Everybody expects to earn more and raise their standard of living. E .55 context§ great extent. Compared to this the urban society is liberal and broad minded. Therefore
person migrates where he can earn higher income. e.g. Many .@E:E of Gujar§ the young generation prefers to be migrated to the urban area and escape from the
have migrated to Kolkata, Bombay, Chennai, and ﬁ”&mu metro n_:mm. Many familig rigidity of rural society.
are E@Hﬂnm&. to U.S.A., Canada, Australia, etc. for iIncome mmﬂmwﬁﬂﬁ.ﬂ: . ,H,G&m—% comfortable urban life is mﬂmﬂuﬂ_u.u&u__..m choice. Families —.—.—mm—.ﬂﬁm to the
(2) For employment, occupation or business : Person migrates fg§ yrban areas to get their sons and daughters married in the urban areas.

employment, occupation or business. e.g. A person :ﬂ.mbm good _.Eci_m._mm__ H Political Reason : Two main political causes for migration are as follows.
information technology migrates to a place where he gets wider scope in the count

: : | (I) War and Unrest : When war takes place very often people migrate to other
or anywhere in the foreign COURLTY- . places, to peaceful areas so that they do not have to live i
(3) Transfer : When a person is employed to another branch in the country sarsottim and st and 3 : i . Ve In constant fear of war,
: h and he has to be migrated to th: . . Insecurity, e.g. owing to terrorism of ISI in Turkey many
cw_ﬁam the country be transferred to that branch an grafec 1o Ui beople have migrated to safe and secured places in Europe to live peacefully. In the
place. same way people residing on the border migrate to internal i
: . _ places for peaceful life.
@ Tpre n...ZmEn__ mmma:nnmm : ...,.ﬁmn RE DA e wm__m Em.: R (2) Avoid conflict : When frequent riots occur between two n_mmwmm of society
resources and relatively the population is low in that area, people migrate to thg . 1. .. . ¢ i :
| here th e mines of gold, diamond, coal, and other metallic ming il r peace and migrate to peaceful and secured place. e.g. minority
place. e.g. where there ar b R . 4 community migrate from the place where they have to face unrest of riots very ofte
or petroleum products there is requirement of skilled persons 3_” refining an e.g. the migration of the Hindu Pandits to another places & e
mining technicians. Therefore many people migrate leaving their native places an E Ay rp .mnmm om Kashmir.
settle there. Such type of international migration has become very common. & - a Emm isasters or mmnEwm H.m_ﬁm.._ to Environment : People severely and
Migration to U.A.E. due to petroleum, people from thickly populated country i ,E_Mmzu Mﬂ me._. mnﬁ“, by __._mEHm_ disasters like flood, earthquake, drought, cyclone,
India migrate to Canada, Australia where compared to their vast geographical art L Ve .
population is low. . : Sometimes as a part of process people have to migrate due to environmental
(5) To get higher quality education : When there is limited opportunity actors. When huge dams are constructed, or forests are declared as sanctuaries or
qualitative education and a person who desires of attaining higher education migral ﬂw:c:m_ parks, people residing in these areas have to migrate to other places. e.g.
to a distant place leaving his native place. Later on this migration turns into permane 'gration caused by Narmada dam in Gujarat is a good example of environmental

in nature, e.g. Indians migrate to foreign countries to get higher quality educat migration, which is also called developmental migration.
and their final goal is to settle there permanently.

responsible for migration are as given below.
E Economic Reason : |
(1) Income generation : Main objective of migration is to generate incoma

{l
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. B o
d Negative Effects ! el in solving the problem of foreign exchange and in attaining faster economic
: | _ owth and development.

- _=..,_.E_=n=m_ i ¢ migration provides guidance to the government to 35” P The E&E.__m. go to the ma_,.w,mms countries to study there and get themselves
ﬁc_wnwm““ﬂhm Hmhﬁ“ﬁ:ﬂ. ”MMM the _Mncac_E.n view point, there are two types o} | gined in _“_EMMHMHM. msrmwﬁ”“ menn to give &m benefit of .E_mw. skill to their own
effects of migration. (1) Positive effects (2) Negative effects. na__:ﬂw Ew.— nmmm.nﬁ i Eﬁ.ﬁ%ﬂh&ﬁ. This makes India's progress faster.

- ._m,.amE___a effects E, Z.mm_.wncn _u P ——— Migration from rural sector to urban sector or the migration of professionals

SO mmmnwﬁ__w EHEW_H_EW”EM ctive of migration is income generation ang| create positive effects. Owing to migration, means of employment and lack of wealth
annﬁ ﬂﬁﬂ“ﬂﬁmﬁh mmmr type of migration is beneficial to family or village} the people .mm ﬁm”m:mhﬂ“:%ﬂm:mm » E@.ﬁm.a big cities. Therefore they have to
People migrated to cities for income generation and send some part of their incomg] join _mwnmw .mmmmﬁnm ) g m%ﬁﬂhﬂ under paid as Eww are too much needy. They

to their family members. As a result families living in the villages can raise thej{ have to live _Mm. :Eﬂ .ﬂwmhuﬁw 5 n.._m come from m&ﬁ Panch Emrm_ m:a.:ﬂua
dard of living. pradesh 0 Em_.mn. Recane, ._“,wﬂ,, are mainly employed in building

o This additional income sent from the city or foreign countries is investeq jpf construction. - mﬂwmﬂﬂ-”_” _“Em:. T e " :

agriculture sector. Thus, investment in agriculture increases and fertility of | _,_._.. E. :nnc._mua EmE.n...En: : When _mmm. &1...&3. 1E_a=mn_ poor ﬂmaw_m

increases. Therefore productivity in agriculture production increases. of the s__mmmum __.“_mw_..mﬁ E. e n._ﬁmm they have to live in the distant areas of m_um .n_Q

It has been observed for many years that the people of villages invest thif] owing their lack of Skill. This creates the problems of unregulated urbanisation.
amount in their occupation or business and many agriculture related business arg The income of Em”mzm 1S SO n:.m:m (low) and uncertain that they _.E...__m to live in
flourished in the villages and people have become economically sound ang slums. They make slums on the sides of ﬂ_._m _.dmn and create Enc_m_ﬂm. O traffic

prosperous. The condition of the people of North Gujarat and Kutch has improved] SY5'¢™- Enie ' Tommy Eﬁ.&:.l.:m of sanitation, they become the victims of the
owing to this reason. Their economic condition has improved remarkably. In thg epidernic. Their quality of life is very low. Slums expand as there is no alternative for
same way, the villages of south Gujarat and specially in the villages of Kheda dist .. them in the cities. .

economic prosperity of the people is largely increasing due to income from migrate . @ mmﬂﬂnmﬁ of .Humﬂmmannﬂ_ facilities : It is very difficult for urban
people. Income sent by migrated people is known as 'Money Order' economy. The SOITEANINALY 0 Enﬁn.m dwelling to these poor migrants from villages. As a result,
have contributed towards faster economic development. maﬁ._*.ﬁ_.m on the roadside, ._u.._n:m:ﬁm and slums have come into existence. Basic

(2) Contribution towards Faster Economic Development : When the people mmn_rnmm such mm water, drainage, electricity, road, transportation, communication,
our country migrate to earn income from other countries they send a part of th§ _E._.Emm. education, health services are not adequately provided to them. Therefore
income to their families in the native in village. Legally or illegally settled in o e this poor people are affected by serious diseases.
countries people send part of their income to their families and this amount | ) Issue of Environmental pollution : In the urban areas slums and hutments
invested in business and trade or industry which makes the economy of the natio rﬁm created the issues of pollution of air. Shortage of water and drainage, toilet

facility along with the problem of discharge of waste water is very serious. Due to
this many water based diseases occur. As there is no specific system for discarding

Enqmmmm#mhzﬁcuwmnnunﬂwwmzﬁum&mnmmﬁmﬁﬁ.m.m.;mamuﬂmﬁ_wm%.,.
from Kerala in the Gulf countries send some amount in their native. Therefore the

garbage (waste), the help of garbage creates air pollution. Its best examples are cities
__Wm}rﬂmﬁ_m_umnubuﬁmmrﬁﬁmcﬁrEﬁﬁwahﬂa_ﬁ_ﬁﬂn.

development of Kerala is observed today.
People living in these areas have to go quite far for employment. There is no

:._Em_.&.ﬁm_,ﬁmEmncacﬁnumﬁcuﬁﬁn_wnw_Ewﬁﬂnnmmmcmamﬁmz.n:_:_z.
has mobilised. Owing to NRIs there is increase in foreign exchange received from : . ;

Public transportation facility so they use private transportation which creates air and
:Emmﬁn::mc:.Eﬂﬂﬁc—_:mcﬂmmmmmnc—_m?d_u#m:.r

11. Effects of Migration : Positive an

them. This has made India's economic progress faster. There has been considerablt
increase in the reserve of foreign exchange in the country. It has contributed a gredl
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@) Social Problems : Sometimes migration creates socia problems. Migrany,

: : exp earn.
from villages sometimes cannot earn income as they had mn...”mn_ " mnﬁz“.”w any
: ¢ ; e n__.mn
sometimes not able to get regular income. Comparison and high €xp

them into robbery, drinking addiction and some :ENE business. mcu.“.mm Hw::._ﬂcm#g
in smuggling of narcotics which creates social inequality E._n._ causes :M " man.m.:.
In short, the migrants are directly affect 0 the society and Dy the negatiy,

effects of migration at the same time other people are also affected indirectly
er also affect people residing near slum

Epidemic spread through filthy air and wat : s
and hutments, Owing to migration social conilicts ariseé _.mmm&_:.m anguage, cultur
and lifestyle. Along with this, it expands the antisocial activities in a country.

Multiple Choice Questions

———
e ——— ———

Select the correct option from the given options.

v "
(1) What percentage of India’s population lives in rural areas according to the 202
census ?
(a) 35% (b) 50% (c) 65% (d) 80%
and man-made socig

Poverty is described as a multifaceted, complex,

problem characterized by :
(a) Lack of sufficient financial resources |
(b) Lack of material possessions () Inability to meet basic human need

(d) All of the above
(3) How is poverty defined in India based on calorie consumption or expenditure
(@) 2000 calories for rural areas, 1800 calories for urban areas
(b) 2400 calories for rural areas, 2100 calories for urban areas
(c) 3000 calories for rural areas, 2500 calories for urban areas ,
(d) 2200 calories for rural areas, 2000 calories for urban areas
(4) Currently who determines the poverty line in India ?
(a) Planning Commission (b) NITI Aayog
(c) World Bank (d) United Nations
(5) According to the World Bank, the international poverty line in 2022 is set1

(2)

(a) $1.00 per day (b) $1.50 per day
(c) $1.90 per day (d) $2.50 per day
(6) How is poverty defined by Adam Smith ?
(a) Lack of choices and opportunities
(b) insufficient earnings to obtain minimum necessities
(©) Lack of human dignity (d) Lack of food and clothing

- Bas
3-8

(7)

(8)

9)

(10)

(11)

(12)

(13)

(14)

(15)

(16)

ic Problems of Rural Economy
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According to the Rangarajan Committee Re .
B port (2014), wh .
monthly consumption In rural areas considered as the wn”.wqﬂﬁ”mﬁm_. _—

o b) %972 © %1407
How does the World Bank define poverty 2 (d) T 1000

(a) Lack of choices and opportunities

(b) Insufficient earnings to obtain minimyum necessities

(c) Based on income levels below the international poverty line
(d) Lack of access to education and healthcare

According to the United Nations, poverty fundamentally refers to

(a) Lack of education (b) Lack of choices o
an
(c) Lack of access to credit d opportunities

(d) Lack of hospitals and sanitation facilities
Relative poverty is primarily associated with
(a) Unequal distribution of income (b) Lack of basic needs |

(c) Situational events (d) Multidimensional factors
How is the concept of Poverty ?

(a) Geographic (b) Relative (¢) Quantitative
How is relative poverty usually measured ?

(a) By assessing access to education

(b) By comparing income distribution within a society
(c) By evaluating basic needs deprivation

(d) By considering situational events

Which poverty type is associated with basic needs deprivation ?

(a) Absolute Poverty (b) Urban Poverty

(c) Rural Poverty (d) None of these

What is used to measure the extent of absolute poverty ?

(a) Income inequality (b) Poverty line

(¢) Multidimensional factors (d) Rural-urban distribution
Which of the following causes is responsible for rural poverty ?

(@) Inequality of land ownership  (b) Low productivity of agriculture
(c) Failure in implementation of land reform

(d) All of above

From the following, which is not the cause of poverty ?

(@) Inflation (b) Urbanization

() Vicious circle of Poverty

(d) High growth rate of economic development

(d) Imaginary
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measuring poverty in India?
evelopment Index (HDI)

54

(17) What is the most commonly used indicator for
() GDP per capita (b) Human D
(¢) Multidimensional Poverty Index (MPI)

(d) Poverty Line e
(18) Which of the following is a monetary indicator used to define thé p Ity
in India ?
(b) Life expectancy

(a) Calorie intake
(c) Per capita income
(19) The Tendulkar Committee is
(a) Unemployment rate
(¢) Inflation rate
(20) From the following which facto
(a) Malnutrition
(c) High rate of Employment
(21) A person who Is deprived from

) Luxurious facilities : .
W_ Primary goods (d) Higher education

(22) Which of the following causes is not responsible for poverty ?
. loyment
Inflation (b) Unemp |
_MM Emww money (d) High rate of economiC growth

(23) What historical factor contributed significantly to the increase in poverty in

India during the British rule ? o ik
(a) Technological advancements (b) Exploitative trade policies

(c) Agricultural revolution (d) Industrialization
(24) From the following which is the cause of rural poverty ?

(d) Literacy rate |
associated with the estimation of
(b) Poverty line
(d) GDP growth
r indicate indicators of poverty ?
(b) Low Literacy Level
(d) (a) and (b) both
is considered poor.

(b) Luxurious goods

.u

(a) High industrialization _

(b) Equal distribution of land

(¢) Low productivity of agriculture
(d) Effective implementation of land reform

(25) What are the effects of the problem of poverty ¢
(a) Reduced of capital formation. (b) Social Inequality

(c) Increase in criminal activities  (d) All of above
(26) How does poverty affect the market in developing countries like India ?
(a) Increases purchasing power (b) Boosts investment

(c) Reduces market problems
(d) Low purchasing power leads to less investment

problems of Rural Economy -

e

—

pasic
2- ;
\\\S\&ﬂ does the level of production and income remain low in poverty-stricken

(27) ?
areas ¥

(@ High Eﬂmmﬁﬁm_..: (b) Lack of laborers

(c) Low productivity (d) Efficient market

How does poverty impact capital formation in the economy ?
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(28 (a) Increases savings (b) Boosts investment
() Reduces capital formation (d) Encourages government spending
A person 18 capable, willing and ready to work at current wage rate but not
(29) getting work is said to be .
(a) Unemployed (b) Poor (c) Surplus (d) Worker
30) which type of unemployment arises due to lack of effective demand ?
(a) Frictional ~ (b) Seasonal  (¢) Cyclical (d) Disguised
31) Which type .Eﬂ pr n.._‘._:nann technique increase unemployment ?
(a) Labour Intensive (b) Capital intensive
(c) Agriculture oriented (d) Education oriented
32) In developed countries, which type of unemployment is mainly found ?
(a) Disguised (b) Frictional  (¢) Seasonal (d) Industrial
(33) Which type of unemployment found in India ?
(a) Structural (b) Cyclical (c) Frictional (d) All of the above
(34) If a person has acquired good qualification, but he has to accept low grade
work which type of unemployment its ?
(a) Open unemployment (b) Disguised unemployment
(c) Under employment (d) Seasonal unemployment
(35) What is the marginal productivity of the disguised unemployed person ?
(a) 1 (b) Lessthan 1 (c) Morethan1 (d) Zero
(36) From the following, which is the short term unemployment ?
(a) Open unemployment (b) Under unemployment
(c) Frictional unemployment (d) Disguised unemployment
(37) Unemployment arising due to change in technology is called
(a) Frictional unemployment (b) Cyclical unemployment
(c) Under unemployment (d) Seasonal unemployment
(38) Which type of unemployment is known as hidden unemployment ?
(a) Seasonal (b) Disguised (c) Educative (d) Cyclical
(39) How long do workers facing seasonal unemployment typically remain

unemployed during the year ?
(a) 1 to 2 months
(¢) 6 to 8 months

(b) 3 to 5 months
(d) Throughout the entire year
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(40) What is the growth rate of unemployment during the period of 2022 ?
(a) 7.33% (b) 8.17% () 7.96% (d) 9%
(41) From the following which are responsible reasons for unemployment ?
(a) High rate of population growth (b) Low rate of Saving and Investment
(c) Lack of Infrastructural Facilities (d) All of the above
(42) Which of the following is not an effect of unemployment ?
(a) Increased in productive expenditure
(b) Negative impact on the multiplier
(c) Reduces capital formation
(d) Migration
(43) What is the impact of unemployment on India's Gross Domestic Product
(GDP) ?
(a) It has no impact on GDP (b) It increases GDP
(c) It hinders GDP growth (d) It stabilizes GDP
From the following Which is the consequences of the problem of
unemployment ?
(a) Increase in government revenue
(b) Decrease in poverty
(c) Reduction in standard of living
(d) Boost in capital investment
What is the meaning of migration ?
(a) Shifting from one place to another temporarily
(b) Shifting from one place to another permanently
(c) Shifting within the same neighborhood
(d) Shifting within the same city
(46) What is the objective of migration ?
(a) To get a better business (b) To achieve a better standard of living
(c) Both aandb (d) None of the above
(47) Which are the two types of place-based migration ?
(a) Rural and urban migration
(b) Internal and international migration
(c) Short-term and long-term migration
(d) Seasonal and permanent migration

(44)

(45)

(48) What is internal migration ?
(a) Movement within the same city (b) Movement within the same country
() Movement between countries (d) Movement within the same village
r

51)

(52)

(53)

(54)

(55)

(56)

(a) Economic and social
(c) pull and _UEH_.: ﬁmnﬁwﬂm @ Short-term, -
prom the following which Migration js qye S n:m.ﬁmn.: H.En_dm
due to pull factors ? pull factors ? What is migration
(a) Attraction to urban amenitjes and
(b) Forced migration

(c) Nomadic lifestyle

(d) Migration due to natural disasters

why do people migrate due to pygh factors ?
(a) Attraction to better opportunities

(b) Compulsion due to limited opp
(c) Desire for a nomadic lifestyle
(d) Seeking adventure

Which of the following is an economic reason for migration ?
(a) War and unrest
(c) Avoid friction

Eﬂmaﬁm

Ortunities in the origin place

(b) Marriage
(d} For jobs and businesses

why do people migrate to areas with abundant natural resources, such as
mines and petroleum fields ?

(a) To escape social customs
(c) To generate income

(b} For better education
(d) Due to political unrest
From the following which is the positive effect of migration?
(a) Decrease in income

(b) Decrease in agricultural productivity

(c) Increase in income and agricultural productivity

(d) Increase in income but decrease in agricultural productivity

What can be a negative effect of migration from rural to urban areas ?
(a) Controlled urbanization

(b) Increase in infrastructural facilities

(c) Scarcity of employment

(d) Improvement in the quality of life

Which of the following social problems arise due to migration ?
(@) Improved social equality

(b) Increase in cultural diversity

(c) Robbery, addiction, and unlawful activities

(d) Decrease in social conilicts
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(57) Identify the type of effect that is caused by
(b) Positive

(58) When there 1s no alternative,

(60) What type of migrati
native place and sett

(a) Economic

(a) Negative

type migration in it ¢
(a) Migration due to Attraction

(¢) International Migratio

(59) Place related migration 1s
(b) Three
on is It
le else where 2

(a) Two

migratio

(c) Zero

(b) Social
ation 18 caused due tO Sard
(b) Social (c) Deve

the villages forcibly mi

(b) Migration ¢
n (d) Noné of given
divided in to how man

ﬁ
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n due to pull factorg

(d) Relative

grate towards city wh

ration due to Distraction

(a) Economic

4 b (5) 6) b (7 b
- g; g (1[3; : (1(1; b (12) b (13) 3 (14) b
- f] (16) d (17) d (18) ¢ (19) b (20) (21) ¢
(;g; d 23) b (24) C (25) d (26) d (27) ¢ (gg) fl
EZQ) a (30) ¢ 31) b 32) b (33) a (:31"::) Z 542;
(36) c (37) a (38) b (39) b (40) a (41) . . a
(43) c (44) c (45) b (46) c 47) b (48) 56) C
(50) c (51 b (52) d (53) ¢ (54) ¢ (55) C (56) c
(57) a (58) b (59) a (60) b (61) c

Give meaning of poverty and explain its concept.
Explain the forms (types) of poverty in detail.

Discuss the different indicators of poverty in India.

Explain the reasond of poverty in India.
Give explanation about different effects of poverty.

Define unemploymentand give explanation of its types.

Explain the causes of unemployment in India.
Explain the effects of unemployment in India.

Define migration and expalin its types.
Give explanation of different reasons of migration.

Give explanation of positive and negative effects of migration.
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